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SUBJECT CODE NO: - Z-1190
FACULTY OF HUMANITIES
B.A. S.Y. (Sem-1V)
Examination March / April - 2023
History - VIII History of Soviet Union (A.D.1917 - A.D.1985)

[Time: 1:30 Hours] [Max. Marks: 50]
Please check whether you have got the right question paper.

N. B 1) All question are Compulsory
2) Use blue or black pen only
3) Use pencil for diagram

4) Use are any signs, attracting attention is prohibited

1) 9d W FEE0 AadE e,

2) ®<h Fooar f&FaT #Tedr 99=Ts arae FIET.

3) SFATETSr Ufr =T ATaY sTuferd o,

4) TRl qFAg® Gor AT gEAT ST qiaad oy

Q1 A) Fill in the blanks (attempt all) 05
1) Philosophy was ......... behind the Russian Union Revolution.
2) e resigned as the Emperor on 15 March 1917.
) R University was established in Russia in 1921.
4) Communist Party was founded in ...... India in 1925.
5) Russia established the National Bankin ............

o) TEmr smm oW, (|39 diHa)
1) TFET TSI ... TAAT HILONT gid .
2) e I 15 /TS 1917 TS 3MI<AT GYTE GaTAT AT el
3) T.9. 1921 9&y TfoATT ............ fAremfis e FevaTa e
4) T. ¥. 19259y AT ........... TY ATEETEl TATHT TTIAT ATAT .
5) Tfommaer T. Ao qey WA o TIMIT ATAT.
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B) Answer in sentence (attempt all)
1) Who was Maxim Gorky?
2) Which Soviet leader visited India December 1955.
3) Who is the first astronaut in the World?
4) Who wrote the book 'Das Capital'?
5) When did Russia Disintegrate?

) THT FrEATd IAL fogr. (A9 Afear)
1) HfE=T® TRT, FOT Frar?
2) RH& 1955 Hed FHIUIG AIEAT Fd GG He@L el gra?
3) ST IR STaehtel AT 07?2
4) =T FUeA g1 UT FHon forrgar?
5) T fAawed &t AT

A) Explain Concept/terms/unit/event (any two) 10
(Word limitation minimum 60 for each answer)

1) Non-Aggression Agreement 1939

2) Trotsky

3) Leninism

4) Bolshevik
o) HeheddT / HAT / FH / ASAT T HAL.
(FOTdRl JF) (TAF T R oz 7A7aT 60 915%)

1) SATHATTET FLL

2) oieeht

3) wfH=arE

4) dresrfer

10
B) Attempt in short (any two)
(Word limitation minimum 60 for each answer)
1) Explain the economic causes of Russian Revolution.
2) Describe the causes of success of Bolshevik.
3) Discuss Stalin's view on the Nationalisation of Agriculture.
4) Describe the Warsa Pact.
) AEHTd SAL BT (FITdel <)
(TAF T AT 9eR HATET 60 9eF)
1) AT wid=T SMAF FLOr Y FA.
2) aresrtasE=ar fasar For quie 7.

3) ordt=aT W AT S gaEt J=mT wi.
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4) AT FOAA Aged T,

Q3 Answer in detail (any one) (word limitation minimum 200 for each answer) 20
1) Evaluate the work of Stalin.
2) Describe the Effect of Russian Revolution.

qeeae 3¢ T©RT  (Fvdel UH)  (TAF T8 A e #q37ar 200 9517)
1) wfom=ar Fi geaiET Hwi4.
2) TIAT TSTHAT=AT AROMHTHT 947 FT.

23F715B1D06793AFB6D3A2EF48A 1551F



